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It's impossible to get all the work done in the
time we have in class.
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2. (10 pts) Find the values of all six trigonometric functions, given cos(n): ~= and sin(«)<0
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3. (10 pts) Find sm(%]. cos{ﬂl. and ‘ran(’—;]. given that sin(x)= -3 and cos(u)<0. Give final answers in
< 2

radical form. You do not need to rationalize denominators I do not want any use of calculators on this

problem.
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Consider the equation 3sec*(x)—16sec’(x)+16=0.

a. (10 pts) Find all solutions x, in radians. to the equation. above, in the interval [0._2/7). Give exact
answers, here. (Hint: Factor by grouping.)

b. (10 pts) Find all real solutions x, in radians.
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4. (10 pts) Re-write sm
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as an algebraic expression.
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5. (10 pts) Solve csc*(x)—4csc(x)=—4. Find all solutions in [0.2;r)‘ You may certainly use degrees to
"see" things, better, but I expect (require) an exact answer, in radians, as your final answer.
This is an easier repeat of the more difficult (and un-numbered) equation, between #3 and #4.

Idiot instructor...
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a. (10 pts) Use a Sum identity.

b. (10 pts) Use a Half-Angle identity.
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6. Evaluate snl[F] in two ways: (Give exact answers, in simplified radical form.)

137
@r‘l'l"‘"’ﬂ'ﬂ?&- "-hna'l AJJMP‘,-Q "—7'_
*‘I\'\J— wre kmow
TS TRl T e A T Wqr 20 oW 37
a— - “— e————— -
12 2= 1 12
oS 3T _T
Abh. er=‘€:, I 9 N2
o °
= D =47 -3
3T S *
. 1 - .._l mTN
go S _II = s'w.(b + )
\
= s OT
= Sim Cos L 4_5‘..,_‘_11_ Cos?—‘;’-
(£ X G._\Jf(ﬁ—)("—:
L -3
> LVa

Oct 10-9:21 AM



	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6

